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GENERAL STUDIES

/ Which one of the following ports of 8. Which of the following is an
India is located on Odisha coast ? example of "Foot Loose" industry ?

(a) Oil refmery (bYSugar
(a) Haldia (c) Software ~) Aluminium
(b) Mumbai(cY Paradeep ( 9. Which of the following river projects
(d) Vishakhapatnam utilises the water of the Pong barrage

of~sriver?
,)8j Indira Gandhi Canal Project
(b) Pochampad Project
(c) Mayurakshi Project
(d) Nagarjuna Sagar Project

10. Match List - I with List - II and
choose the correct answer from the
codes given below:

List - I List - n
Place Confluenceof River

A. Rudra 1. Bhagirathi-
Prayag Alaknanda

B. Nand 2. Alaknanda- :
Prayag Mandakini

C. Kam 3. Alaknanda-
Prayag Pindar

D. Dev 4. VishnuGanga-
Prayag Mandakini

Codes:A B
~! ~c 3 2

(d) 4 1

The largest deposits of lignite coal in
India are found in
(a); Jharkhand
(b) Orissa
.(c)· Jammu & Kashmir
~TamilNadu

3. Krishna river water dispute exists
between the States of
(a) Kamataka and Maharashtra
(b) Kamataka and Andhra Pradesh

J<f!f Andhra Pradesh & Tamilnadu
(d) Andhra Pradesh & Maharashtra

4. Which of the following States of
India has the largest total length of
~e Highways?
(a) Gujarat
(b) Rajasthan
(c) Uttar PradeshYMaharashtra

~ In area, which one of the following
countries is not larger than India ?
(a) Russia (b) Brazil
(c) Canada ~ance

6. The first hydro-electric plant in India
was established at

jft-Y Darjeeling
(b) Shiv Samudram
(c) Mohra
(d) Khopoli

7. The first petroleum well was bored in
India at

~ Digboi
(c) Narkatia
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(b) Makum
(d) Lakwa

C
2
3
4
3

D
4
1-
1-
2

11. ~a~~rRiver is an example of
~ Anticedent drainage
(b) Consequent drainage
(c) Insequent drainage
(d) Subsequent drainage

12. Which one of the following countries
shares longest land border with India ?
(a) China (b) PakistanY Bangladesh (d) Nepal

13. Which one of the following coasts is
related with "Kochi-port" in India?»r: Malabar coast
(b) Konkan coast
(c) Coromandal coast
(d) North Sarkar coast
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1. 'qffif ~ f"'lAr<1f(sH1 ~~<~lItl .q ~ Cfft;:rm
~ ~('1C;"'tR 31qff\4('f t?
(a) ~ (b) ~
(c) ~ (d) r-,fC4•.•••~In:I@..,.,14'"""'{'1n-r4

'qffif.q f<1~1"11~2~ q:;r ~~

~ \ifI'ctTt
(a) $i1<@O:S.q
(b) ~.q
(c) ~~~.q
(d) df~<1'1I'§.q

~~~~fc:A~~l:p:Zft?
(a) ctl'112C6~ 4~RI~
(b) C6'112C6~ 3lRT ~
(c) 3lRT~~ ('ff~<1'1I'§
(d) 3lRT ~ ~ 4~RI~

'qffif~~~.q~~~
<FI141~nctt~~~am-t?
(a) ~
(b) <1J1«211'1
(c) ~~
(d) 4~RI~

2.

3.

4.

5. ~ .q ~ Cfft;:rm ~ ~ .q 'qffif ~

~3IDt?
(a) ~
(c) ~

(b) ~
(d) ~

6. 'qffif.q ~ ~ ~ ~ ctt~ ctt
'Tt~
(a) ~1~f~11 .q
(b) mcr~.q
(c) ~.q
(d) ~.q

'qffif .q «'i~l'I~4 ~ 'ffi;rq:;r ~ •
-rr:rr
(a) ~.q
(b) ~.q
(c) '1<C6f24 1 .q
(d) ~.q

7.

8. f"'l~f<1f(g('f .q ~ Cfft;:rm '~ ~' ~
q:;r~ d~I~<OI t?
(a) 'ffi;r~ (b) ~
(c) «'ilqe~4< ( d) Tr.:~~=nl"R-rl~f.~"'I4TrT4

9. f~~f<1fu1('f ~ 4R41J1'1I;aTI .q ~ Cfft;:r
oqm ~ ~WT ~ ~~ q:;r ~

mt?
(a) ~'lim'~ 4R41J1'11
(b) 41il441~ 4R41J1'11
(c) ~ 4R41J1'11
(d) '11111'1'1mrK .,..ri:4R~416J1"""'11

10. ~ - I a:ftr~ - II q;r ~ ~

a:ftr~~~~~w~~ :
~-I ~-n I

~ ~~W11f)
A.~ w.:wr 1. ~ - 31<1C6'1~1
B. ~ w:JTTT 2. 3i<1C6'1~1 - 4~lfcf);:fI
c.q;ul w:JTTT 3. 3i<1C6'1~1 - ~
D. ~ w:JTTT 4. ~ lfrrr - ti~lfCf);:fI

CfG:
A

(a) 1
(b) 2
(c) 3
(d) 4

BCD
324
431
241
1 3 2

11. lfrrr ~ d~llHOI t
(a) ~~q;r

(b) ~~ir
(c) 31R54qffl ~q:;r

(d) ~~q:;r

12. ~ ~ Cfft;:r m ~ 'qffif ~ ~ ~
~~.~t?
(a) TfR (b) 4ifC6'R11'1
(c) ~i~<1I~~1 (d) ~

13. ~.q ~ Cfft;:rm ('1C;",~ ~~<~II~' ~

~t?
(a) 41<11~1< ('1C;"
(c) Cf')l'1.140:S<1('1C;"

(b) ~('1C;"

(d) ~~OG
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14. Leh is located on
(a) The right bank of Jhelum river
(b) The left bank of Jhelum riverY The right bank of Indus river
(d) The left bank of Indus river

15. Which of the following Glaciers is
the largest ?

~ Siachin
(b) Baltoro
(c) Chogolungma
(d) Biaffo

16. Which of the following States of
India is devoid of railway service ?
(a) Tripura
(b) Meghalaya
% Arunachal Pradesh

(d) Mizoram

17. The "Death Valley" in South
California, U.S.A. is an example of
(a) Anticlinal valley
(b) Synclinal valleyYAntecedent valley
(d) Rift valley

18. Which of the following countries is
the largest producer of diamond ?
(a) Australia (b) Venezuela
(c) Russia .J,9}- Botswana

19. When was 'Speed Post Service'
launched by the Indian Postal
Department as competition to the
'Courier Service' ?
(a) 1988 (b) 1987

~ 1989 (d) 1986

20. Which crop of the following has
largest percentage of irrigated area of
its net sown area in India ?
(a) Wheat ..JJ!i') Rice
(c) Oil Seeds (d) Sugarcane

21. Which of the following rivers is
notorious for changes of its course ?
(a) Ganga jll}-'Kosi
(c) Damodar (d) Gomti

KLM-I-C

22. Konkan Railway connects
(a) Mumbai to Manmad

~ Roha to Mangalore
(c) Mangalore to Kochi
(d) Mumbai to Pune

23. 'Leap Forward Policy' led to starvation
death of millions of ~~ in
(a) Russia lP" Vietnam
(c) China (d) Germany

24. Chernobyl nuclear disaster occurred in
(a) France (b) Japan7Ukraine (d) Germany

25. Which one of the following is
s~ably matched ? ~

fi) NAG - Anti tank Missile
(b) Trishul - Surface to surface

missile
(c) Prithvi - Surface to Air Missile
(d) Pinaka - Light Combat Aircraft

26. Which of the following was worst
affected by tsunami in 2004 in India ?
(a) Pichavaram
(b) Bhitarkanika
(c) Muthupet

~ Nagapattinam

27. Which one of the following minerals
is abundant in Kerala ?
(a) Tin
(b) Manganese
(c) Mica
~Monazite

28. In 1818 the first cotton textile mill
was established in
(a) Fort Glaster in West Bengal

~ Mumbai in Maharashtra
(c) Ahmedabad in Gujarat
(d) Kanpur in U.P.

4
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14. ~~t 22. ~~~t
(a) ~~~~(R:1R (a) ~~~CfiT

(b) ~~~~(R:1R (b) ~~~CfiT

(c) ~~~~(R:1R (c) ~~~CfiT
(d) ~~~~(R:1R (d) ~~~CfiT

15. ~-q~~m~~~t? 'm~~' ~CliRUT~~(a) f-841=cfl'1 (b) csll<12hl 23.
~~<it~w:ft~(c) t(jln1ll¥41 (d) ~ ~-q fc~4(:HI¥4 .q(a) (b)

16. 'qffi'f ~~ ~ -q~ ~ ~ ~ ~ (c) ;iR-q (d) ~-q
~t?
(a) ~ (b) iI€lI<14 24. iI.nf~<1 ~ 3Wro~ rt~
(c) at{lUlliI<1 ~ (d) fl4'i1l<¥4 (a) ~.q (b) \i'fTqR -q

~ ~ ~ «t~.'lt.)~ ~ (c) ~.q (d) ~I-q
17.

~f~'hlR41 -q 'T[(i mit' 3~llHUI t 25. f"1"1f~f(Sl('1 -q~ m 1i1f~('1 t ?
(a) 3ltFRfmit (b) ~mit (a) -;wr-Wff~~
(c) ~mit (d) ·~mit

(b) ~-~~~~
18. ~-q~~m~im~~~ (c) ~-~~CWl~

3(q1~Cif) t? (d) fiRrq;- - ~ CWl~
(a) atl@<?141 (b) ~4'1l{<11

(c) ~ (d) csnffiOlHI 26. 'qffi'f -q~ 2004.qawft ~ mr ~
.q~$~~FIT~?

19. '~~' ~~~Wro:~ (a) {q0101<¥4 (b) ~('1<Cif)f"1Cif)1
~~·~'Ff~~'~~ (c) ~ (d) . '1llllqf~'1¥4
'Cif)CSf~ ?
(a) 1988 (b) 1987 27. f'1"1f~f(Sl('1 .q~ ~ m ~ ~ .q(c) 1989 (d) 1986 CSls('1J4('1~ fl:wrffi t ?

20. 'qffi'f <it~ ~ .q~ ~ ~ ~ (a) fo; (b) ~

~~¥~~~~~ (c) ~ (d) m'1IGlI$G
~~~~t?
(a) -slt (b) ~ 28. 1818 t .q~ ~ emf Cif)1(@HI ~
(c) ~ (d) lFIT ~.q¥FIT:

21. ~ ~ .q~ ~ am llTlf .q qROI~'1 (a) ~ ~ -q-q;)t l<1I'RO< .q

~~Wro:~t? (b) ¥4ltl(l~ ~~.q
(a) *rr (b) W (c) ~ ~ atlt¥4~ICSlI~ .q
(c) ~ (d) ~ (d) m~~~.q

5 KLM-1-C
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29. Which one of the following is the
main cashew producing State ?
(a) Goa
~ Maharashtra

./:~ Kerala
(d) Kamataka

30. Which of the following States had
the highest .Human Development
Index in 2008 ?A Uttar Pradesh (b) Jharkhand
(c) Odisha ,(d) Bihar

31. Which of the following is a coral
island?
(a) New Moor
(b) Car-Nicobar
(c) AndamanYLakshadweep

32. From which of the following coasts
the mean sea level of India is
measured?
(a) Mumbai

j;i( Chennai
(c) Cochin
(d) Vishakhapatnam

33. Which of the following is the highest
peJk in South India ?

Jtf> Anai Mudi
(b) Doda beta
(c) Mahendragiri
(d) Dhupgarh

34. Which one of the following is not
correctly matched?
(a) Bolivia - Tin
(b) Brazil - Iron ore
~~~~xico - Silver

J9'Y peru - Gold

35. Which of the following countries is
the largest producer of iron ore in the
world?

vh6 China
(c) Brazil

KLM-I-C

(b) India
(d) France

36. Which of, the following rivers flows
through a fault valley ?
(a) Krishna (b) GodavariY Tapi (d) Kaveri

37. Which of the following' woollen
textile producing centres. belongs to
Germany?
(aVSt. Petersburg

~) Wuppertal
(c) Bradford
(d) Prato

38. Most of the production of natural gas
in India comes from

~/ Andhra Pradesh coast
(b) Gujarat coast
(c) Bombay High
(d) Tamil Nadu coast

39. Which of the following rivers is most
polluted?
(a) Gomti (b) Periyar
Y Damodar (d) Mahanadi

,40. Bhagat Singh threw bombs in the
Central Assembly along with
(a) Chandra Shekhar Azad
(b) Sukhdev
(c) Batukeshwar Dutt

~ Rajguru

41. Which of the following countries was
affected by Hurricane Sandy in 2012 ?
(a) Mexico
(b) Columbia

)!if United States of America
(d) Brazil

42. On which of the banks of the
following rivers the famous temple
of Badari Nath is situated?
(a) Alaknanda (b) Bhagirathi

JPJ' Mandakini (d) Ganga
6
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29. f.:rt;f # ~ ~ m.~ ~ 3t<1IGOCfi~
t? .
(a) -rITcrr
(b) ~~FU~

(c) ~
(d) CfiOOjllCfi

30. f.:rt;f M# ~ ~ 2008 # ~ 3'1j:qd~
l:fRCf~ '1~CfiiCn ~?
(a) ~~ (b) $lF(@o:g
(c) ~ (d) ~

31. fOOj'"1f<1f@d# ~ ~'m ~~ mt?
(a) ~
(b) CfiK ~fOOj==Cfl16CS1""F(
(c) 31o:g~H
(d) ~

32. f-'1'"1r<1f@d #. ~ ~ & ~ cqm; CfiT
~ ~ <Wf -;::rm \j'fffif t ?

(a) ~
(b) ~ .
(c) ~
(d) fCFm@q?OOj~

33. ~ ~ ~ ~ cqm; Cf5T ~ ~
'illit t?
(a) ~¢
(b) mr~
(c) ~~~rIR
(d) ~

(a) CSlkftfdAl -
(b) ~
(c) ~fCffiCfll

(d) ~

35. ~m#~~~#*~CfiT
~ 3t<1IGOCflt?
(a) ~

(c) ~

(b) cqm;

(d) ~

36. f-'1'"1f<1fuJd # ~ ~ m ~ ~ ~
~~Mt?
(a) ~
(c) ffilft

(b) JnGOlcHl
(d) CfiTCffi

37. f-'1'"1f<1fuJd ~ cw.f 3t<1IGOCfi~ # ~
~~~~t?
(a) ~ cfl6(~CSlJl

(b) <'iq<dIM

(c) ~:g4'lU
(d) ~ '.

38. cqm; # ~ l>llififdCfi ~ CfiT,~
fcf;lrr \j'fffif t
(a) 31RT ~ &~

(b) lJiRffi &~

(c) ~m~
(d) df'"i("HI,§ &~

39. ~~#~~w.rim~t?
(a) lllmfT (b) ~

(c) ~ (d) ~

40. 'qTRf ~ ~ ~ ~f\I4<11 # ~ ~ ~
(a) :q~l(l@< ~c);-~
(b) ~c);-~
(c) CSI<i~l(Iq<~ c);-~
(d) ~c);-~

41. ~m#~~ 2012 #~~
~~~~?
(a) qfcffiChl

(b) CfllMf1441

(c) ~~~
(d) ~

42. r-'1'"1f(1f@d # ~.~ ~ c);-&'tf{ CSI~lOOjI\4
CfiT~llffi ~ t ?

(a) 31(,,\CfiOOj~1 (b) ~
(c) ~~IfCfi;:ft (d) *rr ~

KLM-I-C7
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43. The population of a village decreases
at the rate of 20% per annum. If its
population 2 years ago was 10,000,
what is its present population ?

(a)

(c)

10,000
64

6000

44.

(b) 7600

/6400

World's largest producer of bauxite is

(a) Australia YBrazil

(c) China (d) India

45. The State of Awadh was annexed
into British dominion in the year

(a) 1855

1856

46.

(b) 1854

(d) 1853

Which one of the following countries
does not fall under the equatorial
climate?

(a) Congo

Gabon

47.

(b) Ethiopia

(d) Zaire

Which of the following States
occupies first position in the
production of wind power?

% Gujarat

(b) Maharashtra

(c) Karnataka

(d) Rajasthan

48. In how many years will a money
double itself at the rate of 5% yearly
simple interest ?

(a) 10

~20
KLM-1-C

(b) 15

(d) 30

49. The mountain which forms boundary
between France and Spain is
(a) Apennines

(c) Jura
j9VAlps
(d) Pyrenees

50. Match List - I with List - II and
select the correct answer from the
codes given below:

List - I List - II
(River) (Dam)

A. Colorado Aswan
B. ariba

C. Panchet hill

D. Hoover

Codes :
ABC D

t/.4 3' 1- 2/a) _._--:- -
(b) 1 2 3 4

(c) 3 4 1• 2
(d) 1 3 4 2

51. Which country accounts for the
largest share in International Trade ?

~. China (b) France

(c) Germany (d) U.S.A.

52. Among the Iron ore producing
; '"'countries of Europe, France stands

(a) First (b) Second

fo Third (d) Fourth,

53. The ports on either end of the Suez
canal are

(a) Cairo and Alexandria •

(b) Suez and Cairo

(c) Cairo and Port Said

~ Port Said and Suez

8
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43. M' -rTfqCfft (i'j'1fi&:l/ 20% ~ Cfft ~ 49. ~ ~ m ~iftT.r W:rr ~ c:m;rr~ t
~ ~ ~ t I <fcr ~ (i'j'1fi&:l1 2 ~ (a) 61q'1/~"'*I (b) ~
-qffl 10,000 ~, m ~ ~ ~ (c) \ijU (d) ~(i'j'1fi&:l/ CfCITt ?

.

(a) 10,000
~-I~~-IIq;r~~64 SO.

(b) 7600 ~~~.~~~-ml~~ :
(c) 6000 ~-I ~-n
(d) 6400 f'it) ~

~.q ~ICffi/~(! q;r~ dN/~Cf; t
A. q;l<'11tsl 1.~

44.
B.~· 2. ~(a) 311~fM~/
C.m 3.~~(b) ~

(c) Tft;:r D.(i'j/~~ 4. ~

(d) 'q1"ffl ¥:
A B C D

45. arcrtT ~ q;r~ ~.q ~ S3TI ~ (a) 4 3 1 2
(a) 1855.q (b) 1 2 3 4
(b) 1854.q (c) 3 4 1 2
(c) 18561l (d) 1 3 4 2
(d) 18531l

51. 3HH\~~ ~.q ~ ~ Cfft ~
46. f-it'1f<"lf@ct~ 1l ~ Cfft;r ~ m~(ml t?

(i'j{'1C4/i~ ~ 3ID 'tTPU \ifTctT t ? (a) Tft;:r
(a) Cfii1lT

(b) m-
(b) ~qlN~1 (c) ~(c) ~

~~~(d) ~
(d)

52. ~ *" ~ ~ dNI~Cf; ~ 1l m-47. f.:Fr ~ .q ~ Cfft;r m lfCR ~ *" q;r~t •
~1l~~~t? (a) w:Ill (b) ~(a) ~ (c) ~ (d) ~(b) q(;R/~

(c) Cf;'1\(!Cf;
53. m ~ ~m fuU 'CR ~ 1ffi'1"-~ t(d) (/(i'j~1'1

~~ 3jJlCMif~~/(a)
48. ctilt t:R 5% ~ ~ ~ Cfft ~ ~ (b) m~~

~ q~~bl~ m \ifTctT t ? (c) ~~-q)t~
(a) 10 (b) 15 (d) -q)t~~m
(c) 20 (d) 30

9 KLM-I-C
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54. Which one of the following countries
lies South of the Arctic Circle ?
(a) Finland (b) IcelandY Norway (d) Sweden

55. Which country has market based
locations of Iron and Steel industries ?
(a) China (b) IndiaY Japan (d) U.K.

56. The blind valleys are found in
(a) Karst region
(b) Arid region7 Glaciated region
(d) Tundra region

57. Match List - I with List - II and
select the correct answer from the
codes given below:

List- I
A. Alps 1.
B. Vosges /.

e. Vindhyj.

D. Fujiyama 4.
Codes:

ABC
(a) 2 4 1
(b) 3 1 4
~) 1 3 2 4yt:_l __ 4__ 3_._~~2.

List - II
Block Mountain
Volcanic
Mountain
Folded
Mountain
Relict Mountain

D
3

58. Which one of the following countries
is not drained by the Nile River?
(a) Chad (b) Ethiopia
55Y Sudan (d) Uganda

59. Which of the following countries is
the largest producer of wool ?
(a) China (b) U.S.A.
%Australia (d) U.K.

KLM-I-C

60. The third Anglo- Maratha War is
associa d with

Sir John Shore
(b) Lord Wellesley
(c)· Lord Hastings
(d) Lord Cornwallis

61. The Uttar Pradesh Government on 24th
December 2012 decided to issue card
to industrialist and industrial associates
for easy access to its offices. What is
the name of that card ?

(a) Silver Card

Y Golden Card
(c) Platinum Card

(d) Industrial Card

62. Match List - I with List: - II and
select the correct answer from the
codes given below :

List - I List - II
(Crop) (Region)

A. RUbbe~l. Mauritius
B. Coffee . Italy

C. Oliv 3. Columbia
D. Sugarcane 4. Malaysia
Codes:

ABC D~~~-,~~~-=~--~;~.~
~) 4 3 1 2
(d) 3 4 2 1 '

63. In Uttar Pradesh a lion safari is being
established in
(a) Balrampur
(b) Maharajganj

YEtawah
(d) Pilibhit

10
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54. f"1J41fC'tf~(1 1l~ ~ m ~ 311cl>fcCfi ~
t-~ 1l'tWIT \ifTffi t ?

(a) f"fl'1<Plo'S (b) 311~~<PlO'S

(c) ~ (d) ~

55. ~ ~ 1l~ 3lftlTfu; *~~
t- CfiI<@i4 ~ '\ifRf t ?

(a) ~ (b) '111m
(c) \ifTIWr (d) \"1I~2::S ~

56. ~~~~t
(a) cmt~ll
(b) ~~1l
(c) rnJiI;{\1*1 ~ 1l
(d) ~~1l

57. ~ - I ~ ~ - II Cf>T~ ~
~~~~~~-mT"3W~ :

wit-I wit-II
A.~ 1.~-qcffi
B. crTm 2. ;;rqIMI~@') -qcffi
C..~ 3.~-qcffi
D. lft{\1fl4 IJi I 4. ~-qcffi

~:
A

(a) 2
(b) 3
(c) 1
(d) 1

BCD
413
142
324
432

58. f"1J41fC'tf@(11l~ ~ m~ -;fR;; ~ IDU
31qqlrn(1 ~ mt ?

(a) ~ (b) ~~41N41

(c) ~ (d) ~

59. f.:r8 m 1l ~ ~ Cf>T~ ~ d(qI~Cfi
~~mt?
(a) ~
(b) ~~~
(c) 311<@C't41
(d) \'::M2:'S T.:z:fit;"...~1'S""'Ji

60. ~~-lRTOT~~t

(a) w\ifR~~
(b) m~<"lGjtffi ~

(c) ffi't~~

(d) ffi't CfiI4qlfC't~ ~

61. "3W ~ mcmt -;t ~ 24 f~~kI<
2012 CfiT~ Cfil41M411l dW~jqfrl41 ~
~~t-~$t-Wilt
m \7I'RT fcfi<;rr I ~ m Cf>T~ t
(a) ~m
(b) ~m
(c) ~fC'1Ji m
(d) ~m

62. ~-I~~-IICf>T~~
~~~~~~-mT"3W~ :

wit-I wit-II:
~ ~

A.~ 1. Jilil~l~

B.~ 2. ~
C. ~ 3. Cf)lMfi441

D. lFIT 4. Ji<"l~141

ABC D
(a) 1 2 3 4
(b) 4 3 2 1
(c) 4 3 1 2
(d) 3 4 2 1

63. "3W~1l~~m~~
fcfi<;rr \iff ~ t
(a) CSlM<IJiT<1l

(b) Ji~RIGj~iGj 1l
(c) ~1l

(d) ~1l

. 11 KLM-I-C
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ro.-1 &M/ ~lo7-
64. One nanometre is 72.

(a) 10-6 em ~1O-7 em
(c) 10-8 em (d) 10-9 em

65. The most abundant chemical element
in the Earth's crust is
(a) Oxygen ~ Aluminium
(c) Iron (d) Silicon

66. Sodium metal is stored by keeping it
~~sedin

~) kerosene (b) air
(c) water (d) ammonia

67. Which of the following is a by-
product of petroleum r.9ining ?Z Petrol vM Charcoal
(c) Coal (d) Asphalt 74.

68. Dry ice is
(a) steam
~b~~eatOOC

~ solid carbon dioxide
(d) ice treated with anhydrous

calcium chloride

69. Which of the following processes
takes place in a bio-gas plant?,):!(' Fermentation
(b) Reduction
(c) Hydrogenation
(d) Polymerisation

70. Recently the scientists have
discovered the protein which causes
the dangerous disease of brain -
Alzheimer.
Which one of the following is that
pr~n ?

.,...E() Amyloid monoprotein
(b) Amyloid multiprotein
(c) Amyloid precursor protein
(d) Amyloid leptic protein

71. The much talked
Particle' is
(a) yeutreno (b)

jPY' Higg's Boson (d)
KLM-I-C

about 'God

Leptons
Mesons

The maximum quantity of the
element present in human body is

(a) iron (b) sodium

(c) phosphorous ~alcium

Sky appears blue because

~~lue light is scattered the most.
(b) Red light is scattered the most.

(c) Blue light is absorbed least in
the atmosphere.

(d) Red light is absorbed the most
in the atmosphere.

73.

Mirage is an example of

(a) Refraction

% Total internal reflection

(c)

(d)

Disperson

Diffraction

75. Chemical used to preserve food
materials is

(a) Sodium chloride

(b) Caustic soda

~ Sodium benzoate

(d) Sulphuric acid

76. Light year is a unit of:

(a) intensity of light

(b) time

~ distance
(d) velocity of light

77. Which of the following cleans the
atmosphere of many of its pollutants ?

(a) Oxygen »« Rain

(c) Nitrogen (d) Wind
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64. ~4~14k'(mmt 72. 1WICf mR-.q ~ lfflfT .q lWrr ~
(a) 1O-6~ (b) lo-7-A CfRYfT "ffi'Cf mm t

(e) 10-8-A (d) lo-9~ (a) ffim (b) :mf~4JOj

65. ~ .q i1§~ltj~ -« lWrr ~ CfRYfT (e) CfilWll Hi (d) $fR'ltjJOj

'(l:e Itj f.:t Cfl"ffi'Cf t-
(a) 311~\iH (b) ~~~f.:ttjJOj 73. ~;fu;rr~~t~

(e) ~ (d) f~f('1Cf)I~ (a) ~ ~ CfiT w:f>10'~ ~ ~

66. «lfs4JOj ~ CfiT~ f.:p:;f .q ~ ~ mmt I

'ffl'ffl t : (b) ~ ~ CfiTl'ICf>10'~~ ~

(a) ~S(1f~~ ~ CfiT~ .q mmt I

(b) ~.q (e) ~ ~ CfiTc@ICI,(OI .q ~q~nt:401

(e) "iWf.q ~~mmtl

(d) 31i011f.:t41.q (d) ~ ~ CfiTClI~ICI'(OI.q 31C1~nt:lOI

67. ~ .q -« ~ m q~f<'ltjJOj qRISCfl,(OICfiT ~mmtl

d41tGl~ t?
~'lqWII d~I~'(OI t(a) ~ (b) i11<Cf'1<"1

74.

(e) ~ (d) ~flhl<k: (a) ~CfiT

68. ~GJt-mmt (b) 'T'f 31H'IRCfl q,(IClct~ CfiT

(a) C11'fJf (e) l'ICf>1o\~CfiT

(b) GJt- 0 °C "Y't (d) fcrcffl;:r CfiT

(e) om~~
(d) "iWf ~ $f~14JOj Ck1l,(I~~ IDU 75. T§m"~~~~~wWT.q

~ ~ (treated) 1FIT GJt- I "('1'flIT~ CfRYfT ~ t

69. ~~ ~ ~.q f.:p:;f.q -« ~ m (a) :mfstjJOj Ck1l,(I~~

~~t? (b) CflifoROCfl~

(a) fct>uq.; (b) ~ (c) :mfs4JOj ~~~G

(c) ~1~>il\i1;f\Cfl'(O1 (d) i1§<"1Cf>lCfl,(o1 (d) ~CfiT~

70. ~ it .q ~~lIf~Cf>T~ ~ miR cit m
~ '<"IT t -m JOjf«i1SCfl~ €I~,(~ICfl m 76. ~Cfft~~t

~(\'\i'jI~JOj'(coT ~ CfmfT t I (a) ~ cit 'ffiw'1T CfiT .

RAf<'lR9d .q -« ~ ~ "fITmiR t ? (b) ~CfiT

(a) ~41<"lI~~ iOIl-nl'lli\~ (c) ~CfiT
(b) ~iOI1<"11$\SJOjR1l'11il~ (d) ~$rCfiT
(c) ~41<"lI$~ mCfl~unil~

(d) ~41<"lI~~ ~miR 77. ~ ~ cwiJOjo\S<"IcoT f.:p:;f .q ~ ~

71. i1§i1Md '~qIRoCfl<"l' t IDU ~ ~ 'ffl'ffl t ?

(a) ~ (b) H «:1""('1: (a) a11~\i11 (b) crrU
(c) m:r~ (d) ~ (c) ~1$?1\i1~ (d) ~

13 KLM-I-C
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78. Who of the following wrote a book
on artificial scientific tools ?
(aY Bhoja1» Govindaraja
(c) Chandravannan
(d) Mahipala

79. 'Operation Polo' is connected with
(a) Quit India Movement
(b) Civil DisobedienceMovement
(c) Military, operation into the

State of Junagarh
(dY' Military operation into the

/' ' State of Hyderabad

80. Who said, "The Constituent
Assembly was the Congress and the
Congress was India" ?
(a) Austin
(b) C.R. Attlee
(c) Winston ChurchillY Lord Mountbatten

81. Match List - I with List - II and
select the correct answer using the
codes given below the lists:

List - I List - IT
. A. Curiosity 1. Tablet

Rover
B. Messenge . Unmanned aerial

vehicle of DRDO
C. Rust 3. Mars probe space

vehicle of USA
D. 4. Mercury probe

space vehicle of
NASA

Codes:
A B C D

~. 3 • 4 2· I'- 4 3 2' 1 I

(c) 3 4 1 2
(d) 1 2 3 4

82. The modem Brahmos Supersonic
Missile like technology has been
developed by India in collaboration
with
(a) USA ~ Russia
(c). France (d) Japan

KLM-1-C

83. The book 'Springing Tiger' is the
bi¢aphyof

Jf! Bhagat Singh
(b) Subhas Chandra Bose
(c) Chandrashekhar Azad
(d) Ramprasad Bismil

84. The book 'India Wins Freedom' is
the autobiography of
(a) Dr. Rajendra Prasad
~ JawaharlalNehru

~c) Maulana Abul Kalam Azad
(d) Humayun Kabir .

85. In which of the following countries
G~ Party was established ?

~ U.S.A.' (b) Germany
(c) Spain (d) France

86. Chauri Chaura is situated in the
district of /'
(a) Deoria ~ Gorakhpur
(c) Maharajganj (d) Kushinagar

87. Read the following events :
1. Lucknow Pact
2. Champaran Satyagraha
3. Khilafat Movement
4. Jallianwala Bagh Massacre
Find the correct chronological order
of the events from the code given
below:
Codes :

v(a) 1,2,4,3
(c) 4,3,2, 1

(b)
(d)

1,2,3,4
1,3,2,4

88. The last King of Sikh Kingdom was
(a) Kharak Singh
(b) Sher Singh
(c) Nao Nihal Singh»:Dalip Singh

89. In which of the following districts of
Uttar Pradesh parallel government
was established during Quit India
Movement?
~~Allahabad (b) Lucknow

7) Balia (d) Faizabad

14
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78. f~""1fMfui("1 -q ~ ~ Cf)1<"Yf.=tCf)~~lf.=tCf)
aqCf)«on~~Wt?
(a) ~ (b) TillnrH:fq=~I'"T'I«I"""''''1

(c) 'Cl~q4'1 (d) lOii\q 1(1

79. '3tlqhl'1 ~,. ~ t
(a) 'qffi'f mm 3t1~1~1"1 ~
(b) ~ ~ ~1~~1'1 ~
(c) ~~-q~Cf)14qllfl ~
(d) ~~«lcilIG ~-q~Cf)14ql~1 ~

80. ~ em ~ ,~ ~ "Cf>hffi ~ afu"
"Cf>hffi 'qffi'f ~' ?
(a) ~ (b) m.3lR".~
(c) ~~ (d) mlOilaoG~G'1

81. ~ - I em ~ - II~~~fM("1 ~
arK ~ c);- ~ ~ ~ ~ q;r wftTT
m~~~:

~-I ~-n
A. ~ 1.~

"UcR
B. ~~~«

C. ~-1

2. it. 3lR".it.atT. q;r
- lOil'1q«W('f

ql<J!'ll'1
.3. <L~:tt. q;r 1frR1'

W~
~~

4. ;:rrm q;r ~
W~
~GJR

D. ~-2

¥:
ABC D

(a) 3 4 2 1
(b) 4 3 2 1
(c) 3 4 1 2
(d) 1 2 3 4

82. ~ ~ ~ flOi~I~M ~
~WrlCf>1 'qffi'f-;t~~~~~
fClCf)f.e("1Cfftt ?

(a) ~~~
(b) ~
(c) ~
(d) \;fJlJR

83. 'mrr~ ~~t
(a) 'qTffi'~ q:,1
(b) ~TR~Cfft
(c) 'Cl~~l€H ~Cfft
(d) «llOij;j~IG fCSlff4M Cfft

84. '~fcRr~, ~31I{14Cf)\!l1 t

(a) ~. ~~Cfft
(b) ~~~Cfft
(c) ~~~~Cfft
(d) ~~Cfft

85. f.=t""1f("lfui("1-q ~ ~ ~ -q 1W -qyif Cfft
~rt~?
(a) <L~.'tt. (b) ~
(c) m (d) ~

86. ~"tfffi~~-q~t?

(a)~ (b) In<(@'l<(

(c) lOi~I(I"'1li"'1 (d) ¥l(n'141«

87. f'1""1fMf@("1erc:::rrm em ~ :
1. M@'13) ~lOi$l1("11

2. 'ClAlI«ol ~i;'iIltI~
3. fuiMICfi("1311~lM'1
4. "'1rw04iqIMI ~ ~i;'iIlCf)IO'5
~ ~ ~ ~ ~ erc:::rrm q;r ~
Cf)1Mll~lOi "tffiT 'Cf>t :
¥:
(a) 1,2,4,3 (b) 1,2,3,4
(c) 4, 3, 2, 1 (d) 1, 3, 2, 4

88. ~ ~ q;r 3ffi:rq '(l':J1T ~ ~ ?

(a) ~~
(b) -m-~
(c) -;:rcr~~
(d) ~~

89. 'qffi'f mm 3t1~lM'1 c);- ~ '3W ~ c);-
R""1rMf@("1 m- -q ~ ~ ~lOiI'1H'H
WCf,R" Cfft~ Cfftrr:ft ~ ?

(a) ~~IQICSlI~ (b) M@'13)

(c) ~ (d) 4;"'1lci1l~
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90. The Chairman of the first All India
Socialist Youth Congress was
(a) Subhas Chandra Bose
~ Acharya Narendradev

J<::~ Jawaharlal Nehru
(d) J.B. Kripalani

91. In whichof the followingsessionsdid the
Indian National Congress reject the
GovemmentofIndiaAct, 1935?
(a) Ramgarh Session, 1940
0:>1 Lucknow Session, 1936

/,(c) Faizpur Session
(d) None of the above

92. Who has written the book "Politics in
India" ?
~ Bidyut Chakravarti

~~ Rajani Kothari
(c) Romila Thaper
(d) A.K. Dubey

93. Right to Vote and to be elected in
India is a
(a) Fundamental Right
(b) ConstitutionalRight
~~~~ atural Right

)IFf Legal Right

94. The Amendment of the Constitution
can be initiated in

~ The Lok Sabha only
(b) The Rajya Sabha only
(c) The Legislative Assemblies of

States only
(d) Either House of the Parliament

95. Which one of the following was an
extremist?
(a) Pherozeshah Mehta
~~yGopal Krishna Gokhale

y! Bipin Chandra Pal
(d) None of the above

96. 'Common weal' paper was
associated with
~ B.G. Tilak

~) Annie Besant
(c) G.K. Gokhale
(d) . None of the above

KLM-I-C

97. Which of the following public sector
enterprises in India, does not possess
'Maharatna' status given to four
'Navratna' compani~sy
(a) SAIL ~) ~EL
(c) ONGC (d) NTPC

98. As per 2001 Census, in which State
of India, infant mortality rate was the
lowest?

~ Kerala
(b) HimachalPradesh
(c) Karnataka
(d) Jammu & Kashmir

99. Which one of the following is the per
capita income in India at 2004-05
prices, in the year 2010-11 ?
(a) ~ 30,525 (b) ~ 33,626Y ~34,443 (d) ~ 35,993

100. Which one of the following States
has started Death Census ?
(a) Karnataka
(b) Kerala7 Andhra Pradesh
(d) Himachal Pradesh

101. The Chairman of the Rajya Sabha is
(a) Appointed by the President
~ ~Elected by the Parliament
7' The Vice-President is ex-

officio Chairman
(d) Elected by the members of the

Council of States

102. Which one of the following is not
expected to promote inclusive
gro~?

~ ~igh growth rate of National
Income

(b) Rural Development
(c) Agricultural Development
(d) Sufficient credit for farmers

16

File hosted by educationobserver.com/forum



90. ~ aWrn ~ flGI"1cwfl ~ q:;iJffi
CfiT~~~?
(a) ~W
(b) ~~~
(c) ~~~
(d) ~.~. ~qMI;fI

91. ~ ~ q:;iJffi ~ ~ ~
~ -q 'qffif ~~, 1935
Cf>T~~Cf)1< ~ ~ ?

(a) ~~, 1940
(b) Wsl'1d'l ~, 1936
(c) ~~
(d) aq4Cffi -q ~ "Cf»t ~ "

92. 'qIWtfc:cro ~ ~' ~ t- ~
~t? .
(a) ~ iI~Clffl (b) m.u
(c) ~ ~ (d) tt:~.¥

93. lRf t.l CfiT ~ 31tt f.:ICllfiltl m CfiT
~cqro;-qt~
(a) ~~
(b) ~~
(c) !o1I~f('1Cf)~
(d) ~~

94. ~ -q ~ effi"~ effi"\iIT ~ t
(a) ~.~-q
(b) ~~~-q
(c) ~~~~aTI-q
(d) ~~q~~-q

95. f.:l¥~fMf(gtl -q ~ ~ ~ ~ ~ ?
(a) f4:;~l"1~lIil ~
(b) ~~~
(c) ~~1ffi"f
(d) ~-q~"Cf»t~

96. 'CfillR cflR' 1f;f ~ ~ t ?
(a) ~.~.~~
(b) lFft~~
(c) ~.~.~~
(d) aq4Cffi -q ~ "Cf»t~

97. ~ -q ~ ~ ~ fll~"1f-1Cf) ~ ~
~ Cf>T T.1R" '~' Cf)Uff-141 Cf>T~

TT<rr '~' CfiT~ :mT 'mt(i S31T ?

(a) m-r (b) ~t~.
(c) 31T.~.~.m. (d) ~.it.ft.m.

98. 2001 effi""1"PIOI'1I ~ ~ 'qffif ~~
~-q~~~~?
(a) ~

(b) miili4M ~

(c) Cf)'1\2OCf)

(d) ~~~

99. eN 2010-11 -q 2004-05 effi"ci\lrffi 1R, ~
-q~q;Rm~ cqmr-q~~~t?

•
(a) ~ 30,525 (b) ~ 33,626

(c) ~ 34,443 (d) ~ 35,993

100. ~ -q ~ ~ ~ ~ ~ l1URT effi"
~effi"t?

(a) Cf)'1h~:Cf)

(b) ~

(c) 3lRT~

(d) mGlilM ~

101. ~~CfiT~

(a) <1t?Qf('1rm f.;qCffi" ~ \i'fffiT t I

(b) ~-rnr~mrrt I

(c) aQ<It?Qf('1 'It.; ~ mm t I

(d) ~~~~g:mTfU\ifRlft I

102. ~ -q ~ ~ ~ ~ flGI~~ltI ~ cffi'
~ effi":mm ~ effi"~ t ?

(a) ~~effi"~~~

(b) ~~

(c) ~~

(d) ~Cf>T~~
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103. The Government of India had
constituted a Committee to decide a
new norm for e timating population
below poverty line. Who among the
following was Chairman of this
Committee?
(a) Nirmala Deshpande
(b) y. Siddartha

~ Suresh Tendulkar
(d) Frot JanJdIaman

104. In India, poverty estimates are made
on the basis of
(a) per capita income

)?'! per capita expenditure
(c) household consumption

expenditure
(d) none of the above

105. Which one of the following does not
help in maintaining ecological
~a~e?Z!. Deforestation
(b) Afforestation
(c) Rain water harvesting
(d) Biosphere reserve

106. Consider the following statements
related to Public Distribution System:
1. The basic aim was to provide

essential commodities at
subsidised prices.

2. It was started as price support
programme.

3. The food subsidy is given by
State Governments.

Which of these stateme~s correct?
(a) 1,2and3 /f5") land2
(c) 1 and 3 (d) Only 3

107. The Environment (Protection) Act of
India was passed in _ /
(a) 1981 )t1J 1986
(c) 1995 (d) 2000

KLM-l-C

108. Which one of the following does not
implement and manage the Mid-Day
Meal Scheme?
(a) School Management
(b) Panchayati Raj Institution
~~VSelf-Help Group
~ Contractors

109. Who among the following was the
Chairman of the Committee on
'Financial Inclusion' formed in
Januarf2005 ?

~ C. Rangrajan
(b) D. Subbarao
(c) M.S. Ahluwalia
(d) FCamalnath

110. Which one of the following pairs is
not correctly matched ? I

Census Year Sex ratio in India
(a) 1951 946
(b) 1971 930
(c) 1991 927

JdY 2011 925;C

111. Which one of the following is the
decadal growth rate of population in
India during 2001-11 decade ?
(a) 17.11 percent

~ 17.64 percent
(c) 16.74 percent
(d) 16.05 percent

112. Which one of the following is not a
social protection programme ?
(a) Aam Adami Bima Yojana
(b) Rastriya Swasthya Bima Yojana
(c) Swarna Jayanti Shahari Rojgar
.~ojana

)dJ !he Unorganised Workers'
Social Security Act

113. Which one of the following is the
public expenditure on health in India
as a percentage of GDP in 2009-10 ?
(a) 0.59 percent
(b) 1.09 percent
(c) . 1.59 percent

~ 2.09 percent
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103. llOO m ~~ ~ ~ "CfiB C1Wft
"1'1~&l1 ~ ~ ~ ~ l1A'CP ~
q;R~m'qffif~~~~
~Cfft~ 1~.q~W~~~
~~?
(a) ~ ~~lqIO,g

(b) eft. ~
(c) ~ 8"1{1et)'(
(d) m. "1Hc:n1,(JOt'1

104. 'qffif.qllOO ~Cf;f ~t
(a) m~~
(b) m~'&Ff
(c) ttftcrR' Cf;f~ '&Ff

(d) aq4ffi #~~~

105. ~.q ~ ~ m~ qlRff'!lfctCf>l~F1{1'1
~m-.q~~ctmrr ?
(a) CATq;f~

(b) cHllqol

(c) ~~~
(d) ~qJOto;g{1 'qU;gf{

106. 'E'l1~"1f'"let)~ ~ ~ ~ .q ~
~'tR~~:

1. ~ ~ ~ 'E'lf~:SI~\T:S~ 'tR
3'IIq~ljet) ~,m q;f ~ ~ I

2. ~ ~ 'E'lt\lljet) et)1~Sf)¥OjCfft ~
~~-rr:rr~ I

3. lmI 'E'lf~:Sl ~ ~ ~ rnT ~
~tl

'fl~.q~~~t?
(a) 1, 2 ~ 3 (b) 1 ~ 2

(c) 1 ~ 3 (d) ~ 3

107. 'qffif.q qlj\q,(ol ~ ~ 1l1fu:f

san
(a) 1981.q

(c) •1995 .q
(b) 1986.q

(d) zooo e

108. ~.q ~ ~ ~ ~ ~ q;f
~ ~ Cljqff'!l('f ~ ctmrr t ?
(a) ~ ~~"1il;::e: (Cljq'€21lqet)
(b) q:q Iljffi 'U"1' ~
(c) m~ww
(d) ~

109. ~ .q ~ ~ ~, ~ 2005 .q
'CfiI~4i3(llj{1 ~~"H' 'tR~ TT<fr ~
Cf;f~~?
(a) m.;(l 1'1:1"1'1
(b) it. ~l'I:lq
(c) ~.~. 3it\<tClif(1ljl
(d) et)¥Oj{1'1I~

lit •••ijO ••••j ri 'qffif .q. ~ i1114 1<1

946
930
927
925

(a) 1951
(b) 1971
(c) 1991
(d) 2011

111. ~.q~~m~, 2001-11 ~~
.q, 'qffif Cfft "1'1~ &II Cfft ~l(Ilc:n1lj~ ~

mt?
(a) 17.11 ~
(b) 17.64~
(c) 16.74~
(d) 16.05~

112. ~ .q ~ ~ m ~ 'E'lIJOtlf~et)~
et)1~Sf)¥Oj~ t ?
(a) 3WT~~~
(b) ~~~~
(c) m~m~~
(d) ~~llfd('f ~ 'E'lI¥Ojlf~et) ~

~

113. ~.q ~ ~ m ~ 'qffif.q, 2009-10 .q
~'tR.'&Ff~.iT ..qr.~~~
~.qt?
(a) 0.59 ~ (b) 1.09 ~
(c) 1.59 ~ (d) 2.09 ~
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114. Tendulkar Committee has estimated
population below poverty line in
India at
(a) 27.2 ~y37.2
(c) 22.7 ~) 32.7

115. As per 2001 Census, in which Union
Territory of India, literacy rate was
highest?
(a) Delhi
(b) Chandigarh

~ Lakshadweep
(d) Pondicherry

116. Match List - I with List - II and
select the correct answer from the
codes given below:

List - I List - II
A. Sarva Shiksha Abhiyan 1. 1987
B. Saakshar Bharat Mission 2; 1988
C. Operation Blackboard rt3:Y-rJ2001
D. National LiteracyMissionu. 120'09
Codes:

ABC D
(a) 3 4 1 2
(b) 4 3 2 1
(:~ ~ 2 3 4
(,-- 1 2 4 3

117. As per report of United Nations
Development Programme published
in 1990 which out of the following is
not included in the calculation of
Human Development Index (HDI) ?
~ Per capita income

~! Urbanisation
(c) Literacy
(d) Life expectancy

118. Which one of the following hinders
the success of process of Financial
Inclusion?
(a) Low income
(b) Illiteracy
~:~~ack of Bank branches2..All the above

119. Which of the following cyclones did
not affect India ?
~~ Aila

~) Thane
KLM-I-C

(b) Nargis
(d) Nilam

120. The Year of Great Divide in Indian
.. ?~graphic history isr, ,_ ,.,
)<4J 1921 (b) 'l.~'F

(c) 1951 (d) 19
r
82 ,

121. Which one of the following is not
covered under the Minimum Need
Programme?
(a) Rural Water Supply
(b) Social Forestry
(c) Elementry Education¥ Improvement of Urban Slums

122. Which one of the following is not
related with environmentalprotection?
(a). Sustainable development

~ Poverty alleviation
. (c) Air conditioning

(d) Use of paper bags r' " 'd

, 123. In which Five Year Plan, the
National Rural Health Mission was
launched?
(a) Sixth (b) Ninth

renth (d) Eleventh

124. Indian model of development
protects the Interests of
(a) Individual
(b) State

~ B?th Individual and State
(d) None of the above

20

125. The Aam Admi Bima Yojana
(AABY) was launched on
(a) 15thMarch, 2009
(b) 15thJanuary, 2008
(~) ~5th August, 2007
J9Y 2nd October, 2007

126. One of the objectives of the 11thFive
Year Plan has been to reduce the
poverty ratio by. how -much
percentage points by the year 2012 ?
(a) 2.0 percent
(b) 2.5 percent
(c) 10.0 percent

~15.0 percent

.,.......
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114. 81{1eti{ ~ -;t cqm; II ~ ~ ~
~ Cfft \Jj'1fi&l1 CfiT~ .q ~ ~ m
~ 31letif~t1 ~ ?
(a) 27.2 (b) 37.2
(c) 22.7 (d) 32.7

115. 2001 ctT \Jj'1lI0111~ ~ cqro; ~~
R-wmr~ll~~~~?
(a) ~ (b) ~
(c) ~ (d) qjfs~~l

116. ~ - I q:;f ~ - II~~f{1t1 ~
~~~-rrr~~~-am-~ :

~-I ~-II
A. 'Wf im:rr ~ 1. 1987
B. ~cqm;~ 2. 1988

C. ~~~ 3.2001
D. 'U$~~ 4. 2009

¥:
ABC D

(a) 3 4 1 2
(b) 4 3 2 1
(c) 1 2 3 4
(d) 1 2 4 3

117. i"'l~l;S ~ ;Gq{1qilo:e ~ ctft 1990
II ~etil~lt1 ftq)t ~ ~ ~ II~ ctft;r
m ~, ltRCf ~ 'E1f.1etijetictft TTUT'1TII
~i4If{1t1 :m1 t?
(a) m~3l1<f
(b) '1llfleti{ol
(c) ~

. (d) ~~

118. f.:rI:;r.q ~ ~ m~ ~ ~tll~~H ctft
~ ctft ~lfl{1t1I11 ~t ?
(a) f.:rI:;r3l1<f
(b) f.:mmrr
(c) ~ ~-3lT CfiT3Nfq'
(d) ~~

119. ~ :q~cllffi II~~ cqm; q:;f ~
~~~?
(a) ~
(c) ~

(b) ~
(d) ~

120. cqm; II \Jj'1jetiCf,'h"~ II ~
CfiT~t
(a) 1921 (b) 1947
(c) 1951 (d) 1982 '

121. f-'lX41ifC6t1II~~ ~ ~ aJl6HlIetit11
etil4~tI ~~~t? .
(a) ~ \Jjt'lIlikt
(b) ~ 1tllM eti cnf.:!q,1
(c) mtlf4eti im:rr
(d) ~ctft~~CfiT~·

122. ~ II ~ ~ ~ CfiT~ qll\cHOnli
~~~t?
(a) ~~
(b) ~q;tf~
(c) qIt1l1~{1'1
(d) CfiTlT\if~ ~ CfiTm

123. 'U$ ~ ~ ~ ~ cj:qqt:flll
~ll~~TfGIT ?
(a) ~ (b) ;ftcff
(c) ~ (d) llll{llcft

124. ~ CfiT~ ~ ~ m=rT ctft
~CfR'ffit?
(a) ~
(b) ~
(c) ~~~m
(d) aq4Cffi II~ fcnm ctft ~

125. ~ ~ ~ ~ ~.~.~.cut.)q:;f
~~TfGIT
(a) 151lT'€f,2009 em
(b) 15 ~, 2008 q:;f
(c) 15 31Tl«r, 2007 q:;f
(d) 2~, 2007 em

126. lllRllcft cj:qqt:flll ~ CfiT~ 2012 ~
~ ~ em ~ ~ CR:R CfiT
~t?
(a) 2.0~
(b) 2.5~
(c) 10.0~
(d) 15.0~
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127. Which one of the following was first
to concentrate on human aspect of
~~~opment ?
~ United Nations Development

Programme
(b) Integrated Rural Development

Programme
(c) World Development Report
(d) Community . Development

Programme

128. Where is Indian Diamond Institute
(IDI) established?
(a) New Delhi ~ Surat
(c) Mumbai (d) Jaipur

129. Which of the following tribes is
found in Kerala ?
(a) Chenchu : ~~~pcha1
(c) Dafla 7' Dafar

130. ~halaya plateau is a part of
/a) Himalayan Ranges

(b) Peninsular Block
~ Eastern Ghat Mountain

(d) Satpura Range

131. The biggest petro-chemical
production unit is located at which of
the following place ?

gJamnagar
(b) Ankleshwar
(c) Nunmati
(d) Trombay

132. If fertility and mortality rates are
equal and there is no in or out
migration, there is no change in the
population, This is termed as
(a) ~ble population

J?:Yr ~ro population growth
(c) Dynamic population
(d) Stability of population

133. Sustainable development is a case of
inter-generational sensibility in
~e~ct of the use of .

~ natural resources
(b) material resources
(c) industrial resources
(d) social resources

KLM-I-C

134. Which one of the following pairs is
not correctly matched?
(a) Sardar Sarovar - Narmada

Dam River
~laiya Dam - Konar River

(c) Gandhi Sagar - Chambal
Dam River

(d) Nagarjuna - Krishna
Sagar Dam River

135. Which one of the following islands
comes in the category of distant
Island of Indian coastal line ?
(a) Bhatkal (b) Arnalay Minicoy (d) Hennre

136. Which port has been built to reduce the
pressure of existing Mumbai Port ?
(a) Ennor '
(b) Haldia
~~~/aradip

)61 Nheva Sheva (J.L.N. Port)

137. Of the total electricity generated in
India, the share of nuclear power is
approximately
(a) 2 % (b) 3 %Y 4% (d) 5%

138. Which of the following pairs is not
correctly matched?
(a) Mount Abu - Aravalli hills
(b) Kodaikanal - Annamalai hills
~~otakamund - Nilgiri hills

~) Shimla - Pir Panjal range

139. Which is the longest River of the
Peninsular India ?
(a) ~shna (b) Cauvery

J!i) Godavari (d) Mahanadi

140. Which of the following Iron and
Steel producing centres of India is
located far away from coal field ?
(a) Bokaro
(b) Durgapur

fiC). Kulti-Asansol
Bhadravati

--""';"'--.
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127. mm ~ qHcfl4 ~ 'tRf"1l'01fMfuic:1-q ~
~~;f~~'aTFT~~?

(a) ~~~~14¢f)q
(b) flqf;qc:1lnlftur ~ ~

(c) ~ ~ tlf~~~'1

(d) flllj)~lf4~ ~ ~

128. ~&~~~t? .
(a) ~~ (b) WO
(c) ~ (d) ~

129. f"1l'01fMf~c:1\jH\11If~lI1-q~ ~ m ~:Jt
~\iffffit ?

(a) ~
(c) ~

(b) ~
(d) ~

130. ~~R14 CfIT-qor{ 'qflTt
(a) fi;qR14 ~ CfIT
(b) tlI4!l1414~cnr
(c) ~tijGm- cnr
(d) ~~CfIT

131. ~-~~~cnr~~~
~'tRWmt? .
(a) \111"'1'111< (b) a:iCfi~i#cH

(c) ~ (d) ~

132. ~ ~ ~ ~ G:t 'fIl1R f ~ -3Rf: 'IT
~ ~ "1tT mm t m \11'1.a(§q1-q ~
qf{q~'1 ~ ~ t I ~ ~ "\l'fffiT t
(a) 00 \11'1.a(§q1

(b) ~ \11'1.a&l1~

(c) 11f4I(1Ol~\11'1.a(§q1

(d) \11'1.a(§q1Cfft ~

133.m-~~~~~-q
aRR"-~ .a~~'1i#fI<1c:11Cfft 'EIG'1Tt?
(a) tll~f('l~ ~ ~

(b) ~~~
(c) a¥lWPI~ ~ ~

(d) fllql~~~~

134. ~ -q ~ ~ m <f1l W ~fMc:1 ~
t?
(a)
(b)
(c)

(d)

mw~~
~~
llMt~~
'1lll1fi~~

135. F¢:r-q~~ mm ~(R."OO~
~\<qffl mCfft ~ -q 31ffiTt ?

(a) ~ (b) ~
(c) fti.nCf)14 (d) M

136. ~ ~ G4~<llIlt ~ ~ q;f q;q
~~~~~~cnrFP:nur~
~?

(a) ~
(b) ~
(c) ~
(d) ~ ~ ('i'f.~.;r.~

137. 'qR'ff-q"¥f dNlf~c:1~-q~~
CfIT'qflTtwrqTT

(a) 2% (b) 3%
(c) 4% (d) 5%

138. ~fMf~c:1 ~ -q ~ ~ m -ml ~R1c:1
~t?
(a) ~3l1G{

(b) Cf)1:sI~~'1I<1

(c) d(!~qo:g

(d) ~

- ~qltlf~4i

- 3i""'1lq<1l~qltlf~4i

- .n<1PI(I qltlf~4i

-W~~

139. tl14!l1414 'qR'ff Cfft ~ -q ~ ~ m
~~~t?
(a) wmrr
(c) In~lq:{')

(b) CfiTcfU

(d) ~

23

140. 'qR'ff ~ ~ $ ~~ dNI~~ W
-q~~~~w~~t?
(a) ~ (b) ~
(c) ~-3ilfl'1:m<1 (d) ~
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REVIEW OFFICER / ASSISTANT  REVIEW OFFICER (P) EXAMINATION 2013 
 

1 c 41 c 81 a 121 d 
2 d 42 a 82 b 122 b 
3 b* 43 d 83 b 123 c 
4 d 44 a 84 c 124 c 
5 d 45 c 85 a 125 d 
6 a 46 b 86 b 126 c 
7 a 47 a 87 a 127 d 
8 c 48 c 88 d 128 b 
9 a 49 c* 89 c 129 d 

10 b 50 a 90 c 130 b 
11 a 51 a 91 d 131 a 
12 c 52 d* 92 b 132 b 
13 a 53 d 93 d 133 a 
14 c 54 b 94 d 134 b 
15 a 55 c 95 c 135 b 
16 b 56 a 96 b 136 d 
17 d 57 d 97 b 137 c 
18 d* 58 b 98 a 138 d 
19 d 59 c 99 d 139 c 
20 b 60 c 100 a 140 d 
21 b 61 b 101 c 

 22 b 62 b 102 a 
 23 c 63 c 103 c 
 24 c 64 b 104 b 
 25 a 65 a 105 a 
 26 d 66 a 106 b 
 27 d 67 d 107 b 
 28 a 68 c 108 d 
 29 c 69 a 109 a 
 30 a 70 c 110 d 
 31 d 71 c 111 b 
 32 a* 72 d 112 d 
 33 a 73 a 113 c* 
 34 d 74 b 114 b 
 35 a 75 a 115 c 
 36 c 76 c 116 a 
 37 b 77 b 117 b 
 38 a 78 a 118 d 
 39 c 79 d 119 c 
 40 c 80 d 120 a 
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